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MATHEMATICS

TIME :2HOURS

READ THESE INSTRUCTIONS CAREFULLY

3 You have been given this question booklet and a separate answer sheet. The question booklet contains 50
' questions, )
2. Do any necessary rough work in this booklet.
3. When you have chosen your answer, mark it on the ANSWER SHEET, not in this quesnon booklet.
HOW TO USE THE ANSWER SHEET - o
4. Use only an ordinary pencil. e
s, Make sure that you have written on the answer sheet:
YOUR INDEX NUMBER
YOUR NAME
NAME OF YOUR SCHOC
6. By drawing a dark line inside the correct numbered boxes mark yourfull Index Number (i.e.) School
Codé¢ Number and the three-figure Candidate’s Number) in thc grid near the top of the answer sheet.
7. Do no make any marks outside the boxes.
8. Keep the sheet as clean as possible and do not fold it.
9. For each of the questions 1 -50 four answers arc given. The answers arc lettered A,B,C,D. In each case only

ONE of the four anser is correct. Choose the correct answer,
10. On the answer sheet the correct answer is to be shownr by drawing 3 dark line inside. the box in which the
letter you have chosen is written.

Example ’ o %
In gquestion booklet:
24. Find the circumference of a circle whose radius is 56cm
A.176m
..B. 9856m
“C.352m
- D.112m

The correct answer is C. (352)yrs

On The answer sheet:

@~ [C] ID} @ (v1mBICID] G [A]IB] (€3 (D] [A][B] [C] [D)

L4
In the First sct the box with the letter B printed in it is marked
11.  Your dark line MUST be within the box.

12, For each question ONLY ONE box is to be marked in each set of four boxes

This Question Paper consists of 50 Printed Questions.
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Which ene of the following numbers is four
million, four hundred and four thousand and four
hundredth?
AL 40,404,000.04 B.4444000.04.
C 4,404,000.04 D. 4,404,004
Whatisthe valueof 1+2 + 3 + 4(1 +2+3+4)
A.20 B.73 C.46 D.100-
By how many times is the value of digit 7 more that
the value of digit 5 in the number 42765831
A.700,000 B.140 C.5000 D. 705,000
Find haif the value.of: '
48+0.4x2.5-0.8
6.6+8
Al B.146 C.1.03 D.0.1
The ratio of goats to sheep is 6:7 while the ratio of
sheepto cattleis 14:17. Find the ratio of goats is to
sheepisto cattle. ' : ‘
A 12:14:17 B.6:7:.17 C,6:14:17 D.84:89:119
Write 3'/,% as aratio in its simplest form -
A.5:10 B.3:1 ¢ 1:30 D.30:1
Jane celebrated her fourth birthday on 26th
February 2012. When shall she celebrate her sixth
birthday?
A.2014 B.2008 C.2016 D. 2020
Find twice the area ofthe parallelogram below.

. 10cm

™

<n

7
. lj(—'—' —_—
>

A.20cm’  B.40cm’® C.8Cem® D.60cm’
What is 49.996 when rounded off to the nearest
hundredihs?
A.49.00 B.50.0 C.49.50 D.50.00
Wisatis the product of the L.C. M and the GCD of
16,18,24 '
AT2 B.288 C.57¢ D.134
The fractons ,, /.. "/, and '/, are to be arrangéd in
ascending order. Which of the following is the
correct order?
O My WLV

22 37 &
L ‘/2;*’”/7, /a

2y 3 2
B, %
;4 3 > 4
B

. .Whatisthe value of

%V 2 x 1,20 Y
A, Bigl, . . CYL B3
Constrmet triangle JKL in which JK =6cm,
K1l =7cm and JL = 8cm. In it construct a circle
touching the three edges of triangle JKL. Find the
radius.

A, 3cm B.1.7¢my C.2.8cm  D.3.4cm

Ndagure spends '/; of his income on food, '/, on.
rent % of the remainder on ciothes and saves the
rest. IThis income is sh. 48000, how much does he
save permonth?

13,

16.
17,

18.

19.

20.

21.'.

22,

- A40°
23.
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A.Sh. 10400 B.Sh.16800
C.Sh. 112000 D. Sh. 15000
The diagranrbelow shows Mwenje's plot of land. If
Mwenje decided to fence the plot using 3 strands of
wire, find the length of wire used in km.

101m

ST

A.12km  B.1200km C.400km D.0.4km
Express 0.25% as adecimal.

A.0.0025 B.0.025 C.0.25 D.2.5
Whatishalfthe value of pinthe equation

1(3p+6)=2p-15

A:217, B.Y/, C.10% D.1Y

Find the area ofthe shaded part in the figure below.

7cm
A.21 B.42 €12 D.10.5
Asquarehas an area of 3°/,;m’. Find the
measurement of one side. ‘ i
A%, B.Y, .ok D. 1Y,

Two school bells ring at intervals of 40 minutes and
60 minutes. The two bells ring together at 10 a.m.
When had they rang together last?

A.9.40am B.10,20a.m

C.12.00 noon D.8.00a.m

A rectangular tank with a base of 9m by 3m and
height 3m is half full of water. How much water in
litres is in the tank? _

A.30450 litres B. 40500 litres
C.40.51itres D. 81 litres

In the figure below; line SRQis a straight line. Line
SR = PR ="RQ and angle PSR =40°. What is the
size of angle FQR"?

+ 4 Q
B.80°  C.60° D.50°
Manga paid sh. 120 for 4 shirts after getting a

discount of sh. 10 pers shirt. What percentage
discount did he get?

A.40% B25%  C.33/% ‘1\).30%

’
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25.

26.

27,

28.

29.

Health centre

gkoumggmbi's

30.

-r v ~ T a8

Ifp=3,q=rx2,andr=p- 1, find the value of
3p’q-2q’r+2
4r’p
A/, B.2Y%
C.2 D.15 -

Aladder 25m Jong leans on a wall. Ifits foot in 7m
away the wall, how high does the ladder touch the
wall?

A.2.4m B.26m

C.24m D.8m

Ian a salesman is paid a monthly salary of ksh.
15,000 and a commission on goods above ksh.
30,000. In one month, he earned a total of 24,000
after making sales worth ksh. 120000. What was
his percentage commission? :
A.33'.%, B.66/,%

C.10% D.15%

The following properties belong to a certain
quadrilaterals,

1) Opposite sides are parallel.

1i) All sides are equal.

1i1)The diagonals are not equal.

iv) Diogonals meet at 90°

These properties belongto a

A. square B. rectangle

C.rhombus D. parallelogram

The figure below shows. a solid in which a
cylindrical hole of diameter 7cm was drilled. Find
the volume of the material that remained.

[Sem—

10cm
/

e

N -

18cm

A.3935¢cm B.4320cm’
C.385cm’ D. 3060crn’

The sketch below shows possible roltes to school
from Mugambi's home. Calculate the distance
from Mugambi's home to the market via health
centre inkm.

, 24cm

Market

600m

70Dm School

A.2260km B.22.6km C.15.60kmD.0.7km
Joy bought S trays of eggs @ sh, 200. All in one of

a,

33.

34.

35.

36.

37

38.
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the trays broke and she sold the remaining trays @
sh.210. What percentage 1085 did she make?
A.5% o B.84%

C.19,% D.16%

Mnyasia had seventy five-one hundred shilling
notes. He changed the money into 1000 and 500
shllings notes. How many 500 shillings notes were
there if had ksh.4000in 1000 shillings notes.
A.4 “B.7 .

C.11 _ D.5

Thirty workers can plough a piece-of land in 18
days. How many more workers are required as
plough the land in 12 days?
A.20 - B.45
CJls D.25

Whatis “/, in Roman numbers?
AXLI B.XXXX1I
C. XX1 D. XXII .-
A sonis X years old now. His motheris five times

as old as he is. What will be their average ageiml5 '

years time? ‘
A.3x+10
C.2x+30

2

B.6 :
D.3x+15

The figure below represents a rectangular p’lbt‘of
land. Find its perimeter. .,
(2x + )em
(2x - Tyem
(x + 7)cm

A.36cm B.65cm C.182m D.6cm

Kipkemoi took 12 seconds to run 100 metres.

What was his average speed in kilometres per
hour? . L i
A.300km/h B. Y km/m
C.30km/h D.8'/km »
A watch loses Ssec every one hour. If it was set
right on Wednesday at 10.30 what time will it
show the following Wednesday at 10.30a.m?
A.10,44am B.10.16a.m
C.10.14p.m D.10.14am

Find the area of the material required to make the
solid below, ' '

B.210m?
D. 62L.5m*

A.368.5m’
C.4.375m’

KIRINYAGA STD 8 MATHEMATICS PREMOCK - 2015
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40.

41.

44.

435.

46.

47.

48.

. A.261

What is the second next number in the sequence :
1,8,27,64; .5t si :
A 125 B.119
C.216 . - D.113
The average wage of 5 workers is sh. 92. The
average wage of 4 of them is shs.95. What is the

wage of the fifth worker

A.Sh.93.50 B.Sh.%0

C.Sh.93 - D.Sh.80

Find the surface area of a cylinder whose dlamcier
ml4cmandhasahe1ghtofl0cm .
A.440cm’ B. 748cm’

C.308cm’ D.648cm’

Kenya power and lightening company fixed

electric posts 50m apart. How many poles were
used in a distance of 26km? :
B.521

C.520 D. 1040

3. What is the sum of the first four prefect squares

between 1 and 26?

A. 10 B.30

C.54 D.20

Simplify the inequality 14 x-13>8x+ 8
CALX>2Y, B.X<2'/,_
C.X2"", D.X>7,

A bus left Nairobi on Friday at 2255h. It took 7hr
45 minto arrive at Kisumu. Whendid it arrive?

A. 0600hrs on Saturday.

B. 0640hrs on Friday

C.6,40p.m oc Saturday

D. 0640hrs on Friday

Whatis 47,76 expressed an increasing ratio

A.6:125 B.125:6
C:24:5 D.5:24
Construct quadrilateral ADCD in which

AB=BC=CD=DA=3cm. In it draw a circle that
touches the four edges of the quadrilateral. Find
itsradius?

A 3.5cm B.7cm

C.5cm D.2.5¢m

Thetable below shows the fares between b,ggur‘
and K:tale iown.

Nakuru o

200  Londiam -

350 90 Timboroa .

400 180 140 Eldoret

460 220 210 100 Kitale

Three pupils \’dstale Weru and Mwikali travelled
from Nakuiu to Kitale Via Timboroa What did
they pay altogether?

A.Sh.2190 B.Sh.560

49.

50.

-

C.Sh,1680 "D.Sh.730 -

What is the place value of digit 3 in the number
84.367?

A.Tens B. Tenths

C.03 D.3

What solid is formed by the net below?

A. Triangular based pyramid.
B. Triangular prism.

C. Wedge

D. Square prism

e
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w Tarmac road

Q103 Permatient Uuﬂdmgs'ﬂ E‘ River and bridge
C::'_'IMunam roads 4L scrubst be Constituency developmcnt fund office

& OForests  ~o-o. Town boundary~ & Hill

Scattcred trees OOO

CC Chief'scamp

SCH School .

KT Market bisp Dispensary
Other houses - co- County Office.

PS Police station

L

The approximate !cngth of the tarmac mad in
Ramoaareais __ ]
A. 18 kilometres B. 13 kilometres

. C.22kilometres - D.15kilometres
Thetwo MAIN economic activities carried ... 1
Ramogreais
A.mining 1ishing.
B. trading and transportation.
C. crop growing and mmmg
D. trading and lumbering. :
Which one of the following factors makes the

North-Westem part of Ramo area suitable for :

growing tea?

A.Presence of roads.
B.Neamess to Ramo town.
C. High altitude.

D. Presence of forests.

.. The physical feature which had foxmed at the‘
mouth of River Ramo is called
A.an estuary B.adelta
C.aspring D. atributary

. Business people in Ramo area obtain their trading
licences from the
A_ Chief'scamp B. Police station

C. County office D.C.D.F office

6.

- C.coolandwet .
- The distribution of settlements in Ramo area can

A. linear
-In traditional Kenyan society, people who were

The chmatf of the area betwce.n Devi gnd Mlku ;

marketsisLIKEIL.Vtobe
A.hotand dry B. coolanddry

D. hotand wet

MAINLY be descnbedas
B.dense - C. disperse dispersed D. clustered

initiated together formed

A. anage group .ag

C.ageneration D.anage .
Below are some statements about hurfian ongm,

-~ 1) They were created by a supreme being. -

i) They came from the sky.

_ . 111) They gradually changed frém simple formstc ; |

10.

advanced cnes.
iv) Theycame from the knees of a giant.
Which one of the following combinations of

statenients applies' to the mythical theory of -
-human creation?
‘A.liandiv

B.iliandiv C.1andiii D.iandii
Which one of the following factors is LIKELY to

cause disagreements in families between parents -

and children?
4. Favouritism and parcnts

KIRINYAGASTDS SOCIAL STUDIES ' CRE PREMOCK - 2015

T . A o,




, Powered by: www.eeducationgroup.com

l

.18.

f" 11

'12.

bk . 13

%

21.

- C. Leamers acqmredpucu

. Below are statements about ﬁ
.. leaderin Kc:ﬂya2 T2 % ¢
i) Predicted about the fature.

* A.Masaku .
. Three of the follbWi

C. estabhshmem and growihoftom

. mmhv chﬂdmn shouldbenughtﬂmr

' nshtsnsto

: F
--C ensble their academic cqxtrage A
The MAIN- tm!nst‘

C Mistrust bctween parcms e :
D.Lackof mvolvem‘@ntxﬁ f xl\?dut:es %
Lake Utangéin” Taﬁ’za'ﬁm“wi‘sfdnnedismuitof
A. downwarph;ing D ©E CTOSI0 h
C hilmanit ty 50 & S "‘ ANIC & Vi
Three of the following stilements are

D. The farmersleaVe the tand
Three of th&follog{!ﬁg‘ tatEin

D. Learners was'guided by éxpe

i1) Administered oaths in trpdiuomim
ii) Organized rebellion Wﬁém
iv)Imprisoned by;the Bﬂhsh R e
The}eaderreferredtoas“ A :

C. MekaﬁhhwaM

rm

and. ﬁ'agmen

fhcwconm ies. ..

D.

‘,i<‘-_

D. improve their academic | p_

| 28.°

1 an.

b@CIAL STUDIES CRE PREMOCK - 2015 -

B The yieldis always low.
- { C. Itrequirestittiespace.-
.D.It 1smam1ﬂbrsabsastence ‘
22. R¥'Kenya & national pope auon census is carneﬂ

i outeveryfensyecars M
J’?ﬁ:""“’m‘“
whohzvebm

: AFfindout thentimber
B ﬁnd'éﬂfthemmbcr
C know the number of peop}e living in dxﬂm
_partsof the country.

D getmmmmnoﬁreqmred forplmnmgfet!he
u&s_tghccforpedesmmtomuﬁwmad

P

g }'Lw

s Eﬁmtﬁcrﬂsamadjuncuon

7 - C, atafootbridge
. D. where there are bumps

24.; inlé.‘enya, thenghtwfah mdjv:dua!m g\mnmeed
"bythe :
. A.President BComtmmon

gcmwmnuy D:Judiciary ©
.il'hedmgraxnhelowrememtsuypeoﬁpw
'fuuremthedeaat :

dunt B. burchanC sand s spit D. sandbar
26. lnmuoml.&fncm societies the coming of raml
- wassignified by the following EXCEPT
"A.nppmmoftrmbofams ‘ a;
B. oftherainbow. .~ . . "
C. viour ofccattle. S e R

D. croaking of frogs
Different parts ofthe Earth experience dnﬂ'emnt

27.
lengths of days and nights as a result of
A the movement of the sun from East fo West.

‘B. themovement of the moon around theEaxﬁL_

C. therevolutionof the Eartharound theSun. -

D. the rotation of the Earth around the'sun.
In Old Ghiina, the king was succeeded by

A, his eldestson ~* B. the queen moth

C-hissister's son D hlsyoungestbmthc;'

. Two children had adlspute over the sharing of their -
parent’s estate. They discussed the matter between -~
‘themselves and reached ana ent. The method
uudbymechxldrmtoresolvethedxsputelsknown
A.m{:mon . B arbitration

D. litigation

one ofthe following is a basic hmunn;!n?

Al ands “B. Shelter “C. Fame D. Employment
Which one of the following is the resson why
police ‘officers on patrol rescue a suspeeted t!nef
from mob justice,
. Al wgetewdencaofthecnmeﬁ'omthemspeu -

* B.totake the suspect to prison. :

i & toﬁcfpthesuspectto escape.

D. to punish the'suspect.

32.. The MOST recent court to be established in the-

AYEA -
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Judtcxalsystemchﬁya;s . 43. Which one. of the foﬂawmgx:ug]; am
A. Supreme Court B.—Cmm trade? - ’t‘
—C:Courtof Appeal D.HighCoust. . = - Al Itlsasmmofemplnymmn. '
. Which one of the following marriage m_l e o B Kpmmmﬂwelopmmnofwhancem
practxced chnyaduﬂngErepcolomd,dgyp? C.1t ytes smuggling. 3
é gx\{;lmamage s . 43 D.It mcrmestbe.gov;m:;::;t‘;:m
eligious marriage up MATTIAZS. . Banking, Insurance, Hote camwm
34. The TRUE statement about the mﬁm nf F acatcgorycfmdnsuyknownas i
TAZARA Railway igthat it - A.processing - .. . B.service S e
A. joins countries of Eastern Africa. el | C.manufacture D.assembling . . .
B. transport exports and imports of Zambia. 44. The shicld and spears ing on the National . ..
C. transport copper from Uganda to Zmbia fOI’ ; ﬂagofKenyuymbohm T B O Rty
: smelting. -} = * A Thecolourofblack g:aplc il bl oy
+D. musedmlwkallcomMuoICOWS-& s e defend indepe '
35._Which one of the following mmm;f ; e for our indef
© predicting weather, is also used in a m_ ’ &
" weather station? s & -
A. Observmgthebahmourom :
- B. Observmgﬂtcphasesofﬂ:emn. i,
C. Observing the clouds. ; :
= 11? dbscrvmgthemnbouy w’“;lﬂd P‘“ DmmCanstm -fscbool o ;o
armers are usually eneo to m : ctiono 8.
cropsinorder to T s #46.-Which one of the foﬂowmgxsmx &psm've A
A. avoid soil removal. d - effectof settlers '« : i
B. comrolpestsanddxseasu o .- .} < ASettingupofindustries. . - Sh
C. actas windbreaks A et e AT e -B. Intmduchmofnewcwp&
D. prov:defodderforammals O I S Y, ,'—C.Intmducucnofexoucbmd.
147 :
._h:‘ ]
p s 6" 4 A Alluvialsoil B Cla soil .
| “Temp.% | . C.Loamsoil “D. Voleazic goil - WG
£100 R s 48. TheBu anda parliamentisknownas__ - - - ...
§ 75 . : A Gambola;
£ 30 -~ 21 ;C Lukiko D.Vuongole 2t :
- 22‘5}- i -( 8.} s, wasents the p
JFMAlﬁJJAS’ SERE T
Which one of the following satemts
. CORRECTLY describes the climate of the town?.
Al Therenshxghmnﬁnwhenumpunammbw
- B. The town hasone dry season. ;
C. Temperaturesmhxghthwughomﬂ:eyw.
D. The town has two wet season,
39.  Thefollowi haractmsuc:deauibuomtypeof
ge inKenya. !
")) Given21daysban. .
n)Iggéogwitgacaﬁﬁcate S, » 3! :
[ it) iate yamagmratc fif By LR 0y Bt kvﬂ-u“ o eove E s G
*‘iv) Doesnot allow polygamy. - e Ay "'""’""" - T ™ RGN
ThemamaSeSYStemLigibedabowmw ] 4. Jhx&honsnftheﬁouomg!:;tmu ;
A religious marriage cumym -about the population according thepynnn
Celo;;‘émwt . D. civilmarnage % R }.Mmmfm&k&mmﬂcﬂl&msﬁc
40 Theqpeof:am’fallﬂmtxsfonndm'n ; u;;teti “ T 0-14years. f
" bodyisknown as - - % There are more males than females atallage
A. reliefrainfall B.aseabrpegerainfall C.Thenmnbetofmalamdfemnleswhoareover :
C. convectional ramfall D. almdbreqn 85 years, are equal.
41. What do we call the isolated lnlls found in tbc D. Mostofthepopuhnonuovctﬁvurs
plateaus? | 50. The country whose ulation is represented
A. Block mountains B.Volcanicmmmm - the above pyramid is Ytobe -
C. Escarpments D. Inserbergs A.Tanzania B. Kenya - C.India ~— D.Germany
STD 8 SOCIAL STUDIES/CRE PREMOCK - 2015 KA NY§A
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51. Whatisthe BEST definition of the term wildlife? SECTION H C.R.E
A.Animals living in the game park. 61. Which one of the following was NOT a resultofthe
B. Wild animals and plants. disobedience of Adam and Eve in the garden of
C: \ggg‘ammals found in the forests. _ Eden?
? D. animals and lants found in their natural A. Woman’s trouble’ durin regmmcy was
| habitats. 3 : ~ decreased gl ;s
- 52. One of the following factors is MAINLY B. They wereto die
considered when setting up an mdustry thch : C. ThcywereoutoftheGmﬂenofEdm Ey
one? . ‘D. Adam had to toil to getfood. . ;
A. Avallablhtv of water, - 62. During the time of Lot, God punished m«
B. Nearness to market. Sodom and Gomorrah for their- wiemw vy
C.Availability of labour. | : “sen&ng .
: D. Nearness to raw materials. v A’floeds B.plagues
. §3. *Three of the following leaders were arrested in |  C. sulphurrain fire D, drought ;
i 1952 when a State of Emeérgency was declared in 63. The wtest prophet of God mmm&.
- Kenya. Who was NOT among them? s " -
. ._A.BildadKagia B. Achieng Oneko ~A Isamh B.Moses C.Jeremiah D.Amos
4 C.Papl Ngei D. Daniel Moi '64. Which one of the following was perfotmed by
- 54. 1 was a secretary of the Kikuyu Central Moses at Mount Sinai?
i Association. I wrote the book "Facing Mount A_Hefed le with manna.
i Kenya” I was the first Prime Minister in Kenya. | B. Hepﬂ’};;ped miracles. - -
v Whoaml. ? " C.Hebuiltanalter, -
; A.Qdinga B.JomoKenyatta D. Hesemoved water from the stone.
C.Ronald Ngala D. OgingaOdinga 65. A miracle that was performed by both- M i
55 Whois the chief government legal advisor? - Elijah and Elisha is the -
A. Chief Justice B. Attorney General A. ing of fire from heaven.
- C.President D. Speaker B. punification of water.
\ 56. The diagram represents a method of fishing. The C. raising of the son of the Shunammsw
| method represented in the diagramis D.multiplication of oil.
| - ’ 66. Wh:ch}udgeusedajawboneofthem»
% - athousand Philistines? -
e 7T o A.Shamgar B.Samson C. Jephtha . &M
‘f - — S R 67. Prophet Ehsha told the Shumite WOM g
| —— S  wasgoingtohaveasonbecauseshe =
| - =1 ¢ T | . Abadaskedforamiracle.
TA - = =" Weights _'f“‘EW::ahﬂ&oﬂmgW, :
| . C.wasakind person.
: A.gmnetB.'rrawlingc.driﬁingn. urse -seining D. wasa famous person. - :
' §7. Wihich one of the following would be the MAINto | 68. "I inherited the vineyard from: w 83
| consider when deciding where to set up a furniture Naboth replied. "The Lord forbid ﬂ:ﬂt im' :
makirg industy? : you have it? (Kings 21:3) From. thisin of
1 A.Availability of raw materials King Ahab and Naoboth, 3 that Ly
!~ B.Availability of market should
C. Availability of transport A. workasateam
; D. Availability of power ‘B.enjoy the fruxtsofthe;rlabout
| 58] The basic unit of social organization in traditional - C:look after their gardens.
; African Communities wasthe R » befaxrmthcu'dealmp.
i [ A.clan B.family C.warriors D. age-gronps 69. King Solnmonsmdw&dm
59. The road sign-shown in the diagram tells the dnver A.hemarried many wives.,
todo oneofthe followmgwh:ch one? , - B. asked God for wisdom.
C.allowed idolatory. S
\ D.built the temple in Jerusalem. - ot .
| * 70. lJ?ropheteas Anna, daughter of mw A
; A. the saviour of the Jews, ; A
: B theonetogetlmsalemﬁ'ee
i A. stop atonce ' B. drive carefully C.alighttothe Gentiles. - .~ . i B
’ C. proceed with caution D.theroadisclosed § D. the lamb of God. i e Y
| 60. What is the time in Alexandria on longitude 30°E | 71. "Thisis my own déar sonvmh’whom lmM' g
! when itis9.00 a.m at Oran on longitude 0°? listen to Him." (Matthew 17:5) w” o
’ A.7.00am B.9.00am spokenby God dring . : L=
i C.11.00am .D.1.00pm A, of Jesus ‘BbirthofJesus
' : i C.temptationofJesus  C.transfig

Theparable ofthe lost son teaches

W0

| » ,Ei'-'-s jw_..“
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A. livei 1n

B : following isa. ;cachmg of iwus
from the Lord's prayer? :
orgiveness should be done n secret. .. ‘

: 8 Thocewho forpvcshouldforget

ol Y Y gl N Ty ) @
e Y
5 ¢

'75. Whog

- 76. Whatxsﬂmemmnmessagemthei\po;ﬁc smed?
o A.QbedlencewGod ey
" B.expressing faith and
C.love forown fellowChnsnans
D. Therole of the Holy Spirit .
. Whichoneofthe:
. onthe day of Pentécost?
A.Jesus ascended to heaven -
‘B.Therocksplitapart
' gmﬁ bke 0 v iiag G
i spoke in man es
78. The.:saely--Christians- Y guag

¥ -: C areservanﬁo

A
followm_ghappmmsstookvlme

. Powered by: Www.eeducationgroup.com :

B, its God's dwcﬂmg place
1o rotects thém from danger.
- .D.isaquiet and cool place.

MAINLY because good leaders

A def iy
B mui:mno 8odpal§vays .

g:gple

,yeunotxceahouseonﬁre AsaChnm.‘mﬁeBEST
—actiontotakewillbe . )
A.pmyforﬂ:ehousetostq;bmg

- B. goand trytoputoutthe fire.
- C.continhe listening to the sermon.
' D.-ask pastor to stop preaching fora while.

transmission of HN/AIDSthough
A.circumcision of knife’
B.ms-mantals«.:x A
- Clabstinence =

tehi) "'TVforshoﬂhom
-
LW Yy
A. honour thosem authonty
- B. toleraxethosewhomxstreatthem
- C. obey rules of the society. :
"D. care for the sick.:

$. A Christian should _ obcy lawful authonty A7

87, Apmmdmedtheyoummmympmdnr

of selfcontrolis BESTs.hownm::"" 51

89. Wmlephymgmmeséhbolﬁddmm;mm

-you pick a hundred Kenya gmumg m m

: -chose. the leven dcacons
S becauscthcywantedmemw i wouldyoudo?
A5 Stribn the ws.a A.Kwpthcmoneytousehtu
3 \ : uans se ihenrpropmw: : B Take themoneyto theohurch -
R w:messtofl\ebelwven‘sm‘ .. o= 4 C.Giveittoaneedypupil.
‘} ALY 5 3 tmpmepmecunonofbelwvm ax 854 D. Find out who the owner is.
t ' 79. The books written by Paul in the New. ‘I‘emmgu 90 Bnan, cousin to Nancy has just started worki
® arealsoknownas ~ ; b ry and is complaining that he is paid httde -
iy . 9 P mqney HOW‘BEST would Nancy help her cousin
o P “f - ovecomethi prob lmz'&mhecoumnto
¥, o '_‘ﬁm:'f,o i e . soonmiheférﬁmm : '
Y7 AN gk 2 i 3 B. resign fromthe job - - ¥
‘ A Pre e BJoy ; : C.joina trade union ol
Y, i = PrOphecy : DPowentop«fomlnnclu . - D.work hard fora promouon.
7 8L {,ummﬁmphmeymtoJmummfomold L :
by prop RN, {4
b g A.lsmiah ~ B.Jeremiah C. Hosea: D. Zechari oy

the blesging? = .

y Al Gwmgoffenngs
R - ¥ szxtmgothers%’ :
C. Shannglandwuh forctgn,' sSi et Wi,
b.s , e ; :

. Which¥ one- ~of}' tﬁe *frli'ow'mg 'e@luns why
' u’&dxtg’ona} myths were from mhon, sration ‘10 the
other? - - T R T
A.Toplease the departed spmts :
g ;oke@paway‘ evil
Q their cu

, To: show stheafela i’. nihi
| humanbemg.‘- 3
5 84. In some tradx i€ \‘

. In" which. one of the followin seople in |
- raditional Affican society give :imh o Godfbr
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KIRINYAGA COUNTY PRE-MOCK EXAMS
'STANDARD 8- YEAR 2015
SCIENCE -

‘READ THESE INSTRUCTIONS CAZliEFULLY

1. You have been given this questlon booklet and a scparatc answer sheet. The question booklet contams 50
; . questions,
-2. . Do any necessary rough work in thxs booklet. : : e ek
3 ~ When you have chosen your. a.nswcr, mark it on the ANSWER SHEET not in- t.’ms qucshon booklct

, il  HOWTO ) USE THE ANSWER SHEET |
4. Use only an ordinary pencil. ; £y

s, Make sure that you have written on the answer sheet:
. : YOUR INDEX NUMBER
- YOUR NAME : o - g Gasain b
e Lares NAME OF YOUR SCHOOL ik i
6.  Bydrawinga dark line inside the correct numbered boxes mark your full Index Number (i.e.) School 3

Code Number and the three- -figure Candxdatc s Number) in the gnd near thc top of thc answer sheet.

7. * Do no make any marks outside the bom : -

8. Keep the sheet as clean as possible and do not fe}d it - : .

9. For each of the questions 1 -50 four answers arc given. Thc answers arc fettexed A,B C D In each case only :
ONE of the four apswers is correct. Choese the correct answer, - :

10. On the answer sheet the correct answer.is to bc shown by dmmng a dark lmc msxde the box in whlch the
letter you have chosen is written. S AT : , - -

Example
In question booklet:
4. Whenbreaﬂungm,thc G e P N
. A. volume of the chest decreascs - B.lungs shrinks
..~ C.Diaphragm becomes dome shapcd . dmphmgm ﬂamms 2,
" The correct answer is D, (Diaphragm ﬂattens) :
On The answer sheet; -~

n[A] (B} tcum - [A] (B} [Ccio) . [Aual {CI[D] :

I the First set, the box with the letier B printed in it is marked ;
11. - Your dark line MUST be within the box. S % : SR
“12. .- Foreach questxon ONLY ONE box is ﬁo be marke& mveach setvof four boxes

”f**i’tBi e

i 'l'l_'nis Quie_stin\),n«Pap'er_coixsivstsbf’SUPﬁméd

 KIRINYAGA STD 8 SCIENCE PREMOCK
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Which one ofthe followmgshows the morder
of shedding teeth from the.last to the first?

A. Canines- incisors- premolars :

B. Premolars- canines- incisors

C. Incisors- premolars- canines

D. Incisors- canines- premo]ars E

Class four pupils of Karimanu anary School

collected a certain weed which had th: fo!lowmg
characteristics.

i) Has thorns on the stem,

i1) Purple and white flowers.

ii1)Grow on wet and dry areas.

Which weed was likely to be that?
A.Mexicanmarigold  B.Blackjack

C. Sodom apple . -D.Pigweed _

The diagram below represents themale
rcproductlve system.

Name the parts labelledZ W, X,Y

A. Penis, epididymis, testes, urethra
B. Penis, testes, “pldldyIInS, urethra,
C. Tcstxs urethra, spermduct, scrotum -

- D. Pems, scrotum, testes;urethra

[

The diagram belqw represents a oompost pxt :

S
of -

s 'n

Wthh layer would be used to xn‘troducc bactcna
for decomposition?
AC. BE CA 7= L) O

.- Which one of the following is ng_ka functlon ofthe |
<+ placenta? i

Af Supply food from the mother‘s blood 0 the

oetus.

B. Productxonofhormones %

C. Facilitates transfer of waste produnts from the
foetusto the mother.. -

D. Allows exchange of oxygen and blood from the

mother to the foetus. .

.- The following are charactmstxcs of plants growmg

" indifferent ‘areas.
- 1)Theyhave green stemis. 5 e

i1) They have silvery hairs.
1i1) Thin cuticle..

e - iv) Waxy and hairy leaf surface A
<. .~ Which pair shows the chmactcnstxcs of
s hydrophytes" : :

S TS CTREAES « 3 T B ) I B 1 S D. lVl s
..'The followmg are charactensucs of a x:enam
4 veterbrate i O R T §
] 1) Varymg hodytempcramre

oy

13
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i) Has internal fertilisation,
ii1) Breathe by lungs.
" .iv)Body covered with scales.

Which animal would fitin the above? .

- "A.Ostrich  B.Shark  C.Tortoise D. Porpmse

Which pair of internal parasites attack the Iungs"
A.Lungworms and tapeworms.
B. Lungworms and round worms:

-~ C. Liverflukes and hookworms:

D. Tapeworms and lungworms.

Which one of the following feeding. ada.ptatlons of .

herbivores is not correct?

A. Diastema which is a big toothlcss gap between
incisors and. premolars is used for tuming
vegetable material for proper chewing.

B. Molars and premolars are used for grinding,
crushing and chewing.

C. Hom pad on the lower j jaw. holds food. tlghtly
against the incisors while cutting grass, .

D.. Continuous replacement of molars and

premolars rcplaccs the worn out teeth due to .

constant grinding.

%0, Kamau and Wambui had equal masses of Sng

They were b~'.ncing on sea saw. Which one of the

; followmg explains how' they would sit on a see’
- saw?-

A. Sit on the same sxde at the same dlstance from
the fulcrum. -

' _B. Sit on the opposite sxdes ata varymg distance

from the fulcrum.

C. The heavier one should move close to the -
fulerum while the li ghter should move away from
the fulcrum.

- .. D.-Sit on opposite sides at the same dnstance from

L

e

12.

‘the fulcrum.
Class ﬁve puplls set the below expenmcnt :

Heat from point Ato B travelsby

A. convection, conduction

B. conduction, convection

C. convection,radiation -

D. conducuon radiation '

Class four pupils classified: smkers and ﬂoaters
Which group was well classified? .

A. Sinkers- Cork, glass, ironballs: . :

B. Floaters - Maize cobs, rubber, charcoal

. C. Sinkers- Spoon. wood  Wire

_f . observer see the image?
CAB

D.Floaters- Maize grains, wood, plastic cap

The dlagram below shows a penseope

’Dmma Lo
If the object was placed at P. Where would the
p.c

B.D CREEET

KIRMAGASTD 8 SC

CE: PREMOCK
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14.

T8

‘Which one of the following is

[Py—

precaution when dealing with electricity? =~ -
A. Stay away from broken electric cables.

‘B. Donotinsert objects into electric sockets.

C. Plugelectrical appliances when notinuse.
D. Do not climb poles carrying electric cables.

15. Study the classification of plants in the chart
below. ' : '
PLANTS
Grt,zen Nonjf]reen
I ' q '
'Flowen'ng Non-ﬂowering e A
f o ‘
Moss —)1 : \
« Choosethe correct pair-that would represent X and
e iy Y
A. Mould -~ Puffball
B. Cypress - Yeast
C. Fungi Pine
D. Lichen « i -Mosses* .
16. Mr. Kamau had bleeding gums. The BEST advice
ofhelp you can give him would be? -
A. Stop eating sugary substances,
B. Change the toothpaste and brush.
C. Visitdentist thereafter.
. D.Eatpineapplesand kales. o :
17. Which one of the following soil components can
be tested using simple experiment?
A Aor s e o B.Water - E o ey
C. Organic matter ... -.-D. Inorganic matter
Lactating mothers should take a%alande_d diet'that
include proteins to s e k.
A. getenergy to breastfeed the baby.
B.helpinrecoveryands engthen bones and teeth.
C. for formation of qualify milk and repair worn
out tissues. 58 :
D. replaceblocd lost during birth.
19. Standard four pupils took fresh garden soil, put it
in a glass jar, added water, shook the content and
Jeft it to settle. Which layers would represent clay
and humus? - by e G
‘s - A
> —E F
-C.AF
P "D.EF
20. Which one following is a compound
. fertilizer? R g e -
A. Murita of Potash- hihs b
B. Ammonium Sulphate Nitrate -
C.Dquble Superphosphate - v
- D.Diammonium Phosphate =~ g,
21. "Which one of the following has definite mass but ;
- nodefinitevolume? = ATl
- -A.Chalkpowder B.Oxygen ;. iy
0 CoWater: D. Wood 4 Va8 S
- Class six pupils set up an experiment on how light |

‘travels. They allowed light to pass through |
diffétent materials and the results were as sh_ow_n_._»._.l

5 .belo_w.. ’

s ‘asgfety."

- :
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23.

24,

L%,

:26.

T

-

matevial K_ - ;
Which material would be represented by K ?

. A.Toilettissuepaper. - B.Glass - ‘
C.Stones D. Wood . v
Which one would NOT be separated using a
magnet? 2 : : s

- A. Small sticks and a nail.

B.Razorblades and soil

C. Office pins and iron fillings.

D., Copperandnails. 5 ¢
When two plastic lids of equal sizes are placed on
water in a basin, then small stones added a lid with
more stones sink..-Which property affects sinking in

this experiment? i :
A.Shape - B.Typeofthematerial
- C. Weight - . D.Size %

Which one of the following pairs of animal feeds
would provide
vitamins? % ;
A.Lucem, grass - -. . BFishmeal, desmodium _
C. Oats, conceritrates. ' D. Rice husks, fruits ©

Draining of stagnant water can prevent the spread
of R e
C. Typhoid andmalaria D, Bilharziaand malaria’
Which one of the fallowing is NOT an important

- constituent of commercial animal feeds?

28.

"29_;

el s 300
4 symptoms, Ak
_“-i)"chllin'gof'lymphglands. el i T

- i1).Skin wounds and ulcers on the penis and rectum.

- in)yPainful regular sore. Sh o S, bl

- ~Which . sexually
- suffering from? .

-D. Conduction in solids

A. Water - B.Vitamins SR

C. Proteins . D.Carbohydrates :

Class five pupils of Bidii Primary school set up the

below experiment, e s et ‘ )
c‘f:“ N Candle.

What conclusion did they make? . :
A. Waterisa good conductor of heat.
B. Whenice isheated it melts .
C. Water is a poor conductor of heat.
The following are characteristics of
pollinated and wind pollinated flowers . :
1)Large anthers loosely attached tothe filament. -
i1) Stigma found inside the flower. - ‘

- 1lii)Hairy stigmas

iv) Light pollen graiﬁs

V) Small anthers that are firmly attached to -

© “ . filament, i : ; R

" Which. characteristics
flowers? :

""" B.i,iil,iv  C.iv,v,i D, i

“Mr. Kamau experienced 1he'-folldWing-_s_x'»g‘nSfand"?;} 3A

‘transmitted inchtiép : was ‘he

A.Gonorrhoea - -

KIRINYAGASTD 8 SCIENCE PREMOCK

B. Syphil-is'

an animal with fats, oils..and =~

A. Choleraand typhoid - B. Choleraandbilharzia - -

insect’ v

are for wind pollinated .



= C.Chancroid
31.

- “C.Termites
%232

~ Al =1, C.Thicknessofawire.
= 33.

538
- C.Aerosol sprays

b7 d Which one of the following is-NOT a sign of ill’

; ‘- - A.Reduced yields.

- C.Lossofweight.
) He Y
i ;A 3

k) &

41 . Thediagram below shows a liquid thermometer.

Powered by: www.eeducationgroup.com

D.HIV/AIDs
Which one of the following pests eat grams after
planting and when mature?
A.Weevils - B.Aphids
i D. Cutworms
Which one of the followmg does NOT determme
~ the pitch of a sound?
A.Tension ofthe string. ‘B.Lengthof the stnng

_ D. Speed of plucking.
Study the chart below. m
e . INo. of bodv parts :;"' e
{ Weevils 3 :
. 2. '
‘L, K and M would represent?

- A.L=6,K=Tick, M=3

'B. L=3,K=SpiderM=2
C.L=8.K=Beetle, M=3
D. L=4, K=Mosquito, M=2,

4. Which one of the following is NOT a filter feeder?
- A.Duck B.Flamingo C.Kingfisher ‘D.Pelican
Which one"of the following will NOT pollute -

soil? A. Oil spillage B. Herbicides -

D. Metal scrapes

healthin livestock?

B.Stuntcd growth.

D. Wet muzzle.

Another name for the seed leave is

A.seed - B.plumule -

Jane mxxed water, spirit, kerosene and cookmg

oil. How many layers were formed? :

A.4. B.2 C.3 D.1

Three of the following are safety measures

against lighting except:-

A. to.avoid walkmg m -open fields when it is
raining.

B. fitting lightning arresters to tall buxldmgs

C. swimming only when itisraining.

D. avoid sheltering under the trees during rains.

. Which one of the following need pot be the same

when comparing water capillarity in the social?

.« A.Sizeofcotton wool.
- B. Amount of soil.
- .C.Water levelinthe tubes.

D.Diameterofthetubes. -

s .,Whachone 1sN_QItme about the mstrument‘? Faroe
. ;A.Thescalereads from toptobottom. . = -
- "B.Theliquid is coloured for visibility. -
1.C.”The narrow tuber increases its cﬁicumc i
‘ ",_D ‘Should be placed where there is freemovcment ¢

42,

“ofair.>

C.cotyledon D.radicle -

Wambui saw a child who had the followmg sxgns =
‘ and symptoms. . :

43.

|45,

46.

47.

Iso.

o A F:brous
- C.Prop
|48

i) Swollen kneejoints.

i1) Soft or brittle bones,

iit) Teeth appeared much later than normal
What would the parent do to help the child?
A. Expose the child to sunlight.

- B.Giveplenty of proteins in the diet.

C.Include foodsrich inironin her dxct
D. Give enough food.

Which of the following pairs of parasites attack

both poultry and rabbits?
A,Mitesandlice ~ B. Mites and ﬂc:as
C.Liceandticks D. Ticks and mites
Which one of the following adaptations for
movement is WRONGLY matched?

Typeof movement = Adaptation

“A.Hopping and leaping Have stronghindlegs.

B. Swimming Have light bodies. -
C.Flying Have streamlined body.
D. Wading Have webbed feet.

The diagram below represents a block of wood
pushed along the ground towards X

Which arrow represents the direction of friction?
A.O B.M C.E DL i
Standard five pupils took the following meals for

their lunch. Who did not eat a balanced diet? A. -~

Amina - Chapati, green grams, stew, cabbage

B.Oloo -Rice, meat, stew, spinach

C.Kamau - Ugali, iurmites, kales -

‘D.Alice -Milk, bread, sausage

Which type of root Y is shown beléw found ina
maizeplant?

B.Tap

D. Breathing

Which one of ‘the following foods can be
preserved by use of honey?

A.Milk ad cereals B. Meat and fruits .

C. Fish and grains D. Vegetables and cereals

~ {49. Which of the following is the correct order of the

development of a baby from the last to the first
stage
A.Zygote—> embryo —> foetus ~> baby .

. B.Embryo ~» zygote —> foetus —>baby _
« C. Zygote —»embryo~> baby —> foetys -
- D. Baby—>foetus—> embryo—> zygote - e
Which one of the following is g__t, a charactenstxc _
- ‘ofsandy soil? ity ik
~-A.Haslow capillarity.

B. Has large air spaces.
C. Cracks whendry:

i D. Cannot be rolled to makc nbbons

"KIRINYAGA STD 8 SCIENCE PREMOCK -
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In question booklet: Choose the word that means the same as the under lined word. s
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KIRINYAGA COUNTY PRE-MOCK EXAMS

STANDARD 8- YEAR 2015
' ENGLISH

TIME IHOUR 40MINUTES

READ THESE INSTRUCI'IONS CAREFULLY
You have been given this question booklct and a separate answer sheet. The quesuon booklct contams 50

e _questions,
2. Do any necessary rough work in tl'us booklet : ; : PR
3. When you have chosen your answcr madc it on the ANSWER SHEET not in thls questxon booklet e d
HOW.TO USE TBE ANSWER SH_EET _
4, Use only an ordinary pencil. : T
5:; Make sure that you have written on the answer sheet:
' :  YOUR INDEX NUMBER
: YOUR NAME 3
NAMEOF YOURSCHOOL R B
6. By drawmg a dark line inside the correct numbered boxes mark your full Index Nmnbcr (t e. ) School
' . Code Number and the three-figure Candidate’s Numbcr) in the grid near the top of the. answer shcct
7: Do no make any marks outside the boxes. ;
8. Keep the sheet as clean as possible and do not fold it. ; ' Fp R G R
9. For each of the questions 1 -50 four answers arc given. The answers arc Icttcrcd A,B C D In each case only B ETE
ONE of thc four answers is correct. Choose thc correct answer, St
“10. On the answer sheet the correct answer is to be shown: hy dmwmg a dark&mc msxde the box in whlch the
letter you have chosen is written. . - e s FURE A T d vy
Example

24, Dominic is a_friend of mine
© Alally : " B. enemy
" C. classmate : ; D, relative

The correct answer is A. (Ally)

11,
12.

On The answer sheet:

BiaEico @ nimicm B wiBicD [A11B] [€] (D]

In the First set, the box with the letter A printed in it is marked
Your dark line MUST be within the box.
" For each questxon ONLY ONE box is to bc marked in each set of four boxes

This Question Paper consists of 50 Printed Questions.

_ KIRINYAGA STD 8 ENGLISH PREMOCK - 2015
Y '
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Read the passage below. It contains black spaces numbered 1 to 15. For each black space, choos the best
: e thechoices. .

~ tis 71 . important to conquer anger. An angry person___ 2 tryto ___ 3___ his nerves and
e iﬂu;___lt .ofblood.pressure.__5___ canbedone___6 ___counting numcncally ina___7__ waythatis from
~_ten,mine -downward. 8 wero. . 9  effortsshonidbe 10 togetridof _11__ evil curseof
' anger That 12  save 13 health, reputation and digmty By losing sense. of ju ]udgement the angry
'mmmmn inhuman__ 14 tothe__ 15__ ofhisanger. :

B.very - C.so D: rather
2. B.can C.may D. should
3. A.contrel ‘B.avoid . C.prevent - D.releive
4 Araise B.arise C.rise _ D. raising.
5. A.Those B. Little © C.This - D. Much
.  A.with : B.by C.for . D.on
7. A.direct B. loud C. ascending D.reverse
8. “Aupto v B.onto A C. upto : D. through
< B AlDeliberate - ‘- B.Constant C.Normal - D.Certain
O AP 2 S 5 B.done - C.kept ~ D.made’
AR AR R - N e C.an ' - D.some
12. Accan - © B.may ' C.will D: should
" 13. A.ones B.one's C.ones' D.once ' ..
14. A wounds B.damage C. destruction - D.injuries
15,  A.victim B. cause C. suspect D. culprit
- Feor ions 1 g : nati ‘| 20. Weneedn't hurrysznce we haveplentyof time.
M@Mﬂg A. Wehave much time so we don't need to hurry.
6. Thebestpupil in class exght was givena ____of B. We didn't have to hurry because wchavealot of
crookery on the price giving day. . , time.
A:set  .B.group C.cast ~ D.crate . C.We don't need to hurry- bemuse 1t is ‘not
. ‘Whenareyou ___theschool play this year? nef‘essary
A.putting up B. putting off’ D. We don't need plenty of time because hurrymg
C.putting on o D. putting in N is unnecessary,
18. If the police: amve in time they ___ save the In_gquestion 21 and 22. choose the best
: . victims ' alternative,
- A.might ‘B. should C.would D.could’ 21. Camillahasnever failed on Englishtest, e
For questions 19 and 20, choose the sentence A.hasshe B.hasn'tshe C.doessheD.doesn'tshe
thatmeans the sameas the underlined one - 22. Viceroy.often visited the.countryside,
19. Nosooner had we completed the syllabus than e A.did he? B.wasn'the?
Started revision. = C.wouldn'the? - D.didn'the?
A. We completed the syllabus and started revision. | *  Choosethe bestword to answer guestions 23 -25
_ B. Immediately we started revision, we completed | 23. Each ofthe athletes trained well.
e the syllabus. ; ~A.has B.bave C.are D.were
P €. We started revision after we complc..: the| 24. Neither of the traders, enough customers.
R M AU -syllabus, - A.has B.have C.are D.
D. As -soon as we complcted the syllabus, we | 25. Eiil:er the shopkeeper or the customer
‘beganrevision. tellingthetnith. . .
; A.were B.are  C.was D. had

i Readthe passage below and arn:iver guestions 26 - 38
’ Purry' I did it! Thanks to God Almighty, * exclaimed Eahati. Bahati was a village girl who was very
passionate abouther school wark. She hoped to pursue engin eering one day. She was determined to excel in life.

1 ik ‘The unexpected.good news of the resuits for the Kenya Certificate of Primary Education had been announced the

day before by Professor Kaimenyi the minister of Education. That day, she heard her name being mentioned over
‘the local radio station. She was the top girl in her county having scored 429 marks. Tears of joy welledup inher
eyesasshe dashed back home to giveher family the good news , Bahati found her mother unaware and when
she broke the news to her, she almost fainted with shock.

- They hugged and rejoiced together. The rest of the family joined the celebration . Little did they know that

o ARG i - a5 Tl
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”

er father had been called to meet the media crew who were on the way to her small village to feature her story. Thc '
rival of her father with the media crew was yet.another surprise. She was given a.few minutesto: tldy_up since she '
ad just been from the shamba when she heard the announcement-on radio. Bahati theugh camera shy, braced

erself for the interview. She narrated how hard and smart she had- worked. She also advised that everyonedesiring -
y excel like her must be highly disciplined, self driven and have self sacrifice. The mediajnterviewer toldher that
er seconda:ry education would be sponsored by the local media. Shexcouldnt. hold badkhcr tears as'she thanked
1em for their kind gesture, and prom:sedto deliver '

6. From the paragraph one , Bahati said, * Hurry' L &
didit! This implies that :
A. Bahati was quite shocked. : : J
B. She was alittle amazed. :

C. shenearty fainted
D. she haseverfainted.
33. How longdid Bahati need to tidy up”

C. Shewas extremely €lated. A.Fewhours
B.Alittletime.
- D. Bahati was fairly surprised. : C. Fortnight
7. Which one of'the following i is TRUE according tof ortnight.
DA fowmamttes.
R paragraph" ¢ 34 Whaxmerhad'l!ahauwplrui"
A. Bahati was nota diligentstudent. L etk s

B. Bahati was the top girl in the cofintry.

C. Bahati leamnt of her success through her father : g::eh-I :‘;::tz T
D. Bahati success was not by pure chance. I S e R

8. How did Bahati get to know of herresults? 35 g She h(::fdto :kc . | 1 '
A. Through regional local radio station. : D avast 4o oy, IS;nnng to excel are.all. :

g : the following.except
B. From her mother and }'clau\_res. A ihouldhave highiliscipline.
C.Through the local radio station. : b , ; 8 i 3
‘B.theyshould have highself-drive.
D. Through the localnewspaper.~ ll : e
9. Tears welled up in her eyes' means that Bahati C-hmyshould hsve kigh
o D. they should have high aa!fsaonﬁcc

e Xﬁlanhed b ; ::30. lWhJCh statement is TRUE according to thc
B. distraught ' : : m AL o
D in agony. B. She gaveimelevantadvice interview.

‘C. She was shown ontelevision and radio..
D. She gave up her secondary dream.

37. Promising te deliver according to the :passage
means
A.Bahati will give birth to.a baby.
B. Bahati will do hervery bestat secondary school.
C.Bahati will take a letter to her schoot.

0. Who had goneto receive the media crew?
A.Bahati went to receive them.
B. Her father and mother went to receive them.
C. The interviewer went ot receive them
D. Her father wenttoreceivethem. . .
1. The word passionate has been underlmed in the

passage,l't et " D.Bahati will becomethe proud girlofthe village.
A. Bahati bated school. ¥ ok ety e 3
B. Bahati boasted a lot in the village. . Which one of the fo Omngpmcrbs describe-
C. Bahati was very lazy and shy Bahati's success?
' ; e A. Afriend inneed is afncnd'indccd..
D. Bahati was committed to her work.
2. “She almost fainted’ meansthat__- B. Early to bed, arly torise.
' RS C. If wishes were horses’beggars wouldride.

A. she hardly faints

B shealways faitited _ .D,. Hardworknev:r,goes? urrewarded -

AR

Readthepassage b nd ans z’on : : :
The ancient Olympic Games were rehg:ous and were held together with athletic fesnvals every four years in { 92t
lympic Greece. Competition was among representatives of several city states and kmgdoms of ancient Greece.
hese games featured mainly athletics but also combat sports such as wrestling, horse and chariot racing. During
KIRINYAGA STD 8 ENGLISH PREMOCK - 2015 _
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~ thoOlympic Games all conflcts among participating City-
Gine This cessation of hostilities was known as the Olympic Peace or truce. ; :
- This’truce allowed 7eligions pilgrims who were tra velling to Olympic to pass through warring territories = -

| unharmed. Itisbelieved that the first Olympic Games were held in 776BC. The first Olympic Champion was - -

f_étt_e:: were postponed until the gain_es were finished. '

| Cormbut Acod M BagiyaBlie o P Champlon was
-~ - The Olympic were of: gredt religious importance, featuring sporting .events alongside ritual sacrifices

1 * honouring . il
. The games were held every four years, and this period, known as an Olympiad, was used by Greeks.as one way of =
_ measuring time. The Olympic Games reached their peak in the 6th and 5th Century but then lly declined in -
. importance as Romans gained power and influence in Greece, ' Ly R
_ - The first Olympic Games organiseéd by the International Olympics Committee(IOC) was hosted in Athens in
1896 A.D. The games brought together fourteen countries and two hundred and forty one athletes who competed in

forty three events: Greek officials and the public were enthusiastic about the experience of hosting the Olympic
Games. This feeling was shared by many of the athletes, who demanded that Athens be the permanent Olympichost .
+ city. However, IOC decided that the Games should be rotated to various cities around the world. Sy 1 e
.+ :The second Olympic was held in Paris, The rest asthey say is history. The Olympic Games are the most famous
- sporting event in the world, equal only to the football World Cup. It is very athlete's dream to participate in and
« possibly win'the Olympic Games. . =~ : i » ;

; (Adappg_d from Olympic Archives) (Greece 176BCY.. :

"+ 39: Which of the following istrue ~ about the ancient | ~ —"means that .. oo
o Olymple games - 5 c i F R ] : A.importance of the games slowly reduced.
- A.Thegamesfeaturedonlyathletes. '~ | ' B.importance ofthe games quickly reduced.
- B.Thegamesdidnotfeaturehomeracing.© * | C.gamessoondeclinedinimportance.” -
. C. The games featurés both combat ‘events and | D. games immediately reduced inimportance. - R
o athletics. | ook s®ies 1 i tow . o vn o |46, ~The Mternationai Olympic Committee held their
"¢ D.The gamesmainly.featiired chariot racing, first Games in - i
-+ 40. TheOlympic contestinvolved : A.1896 BC B.1869 AD
T5EA several Cieutates. 0 T : C.1896AD D.1986BC _
B. City States and kingdoms. - - | 47.. How many athletes participated in the first 10C
- C.severalkingdoms.  ° . 7T by contest? e . , 4
- D. representatives of a number of City Statés and A.Fourteen B.Overhundred and fifty
- kingdoms. Lo e b i SR SRR C. Forty three . D.Atleast two hundred
|+ 41. Thecessationof conflicts wasreferredtoas - - | 48. Whick of the following statements is TRUE about
A. the Coroebus Champion. - . - the first IOC Olympic Games? - o
B. The Olympic Games. - -A.The Greek Offices were the only happy people.-
C. The Olympic Committee. . B.Mostofthe athletes were unhappy.
D. The Olympic Truce, C. Future games were to be rotated within Greece.
42. Which one of the following was NOT a combat D. The public and the official were quite happy.
SPOILY. . i ela,. . , " | .49. Why did the Olympic Games. reduce in
A. Chariotracing. ~ B. Wrestling . importance? '
C. Marathon D.Horseracing A. Because ofthe new IQOC.
43. Who was the first Olympic champion? - B.Because the Romans liked the Olympic Games.
A. Acook called Elis - : C. Because of the Romian influence,
Hitdy B. Acook from Corobuss - - : R - D. Because of the Greece gaining power over.
C. A Greek warrior from Athens. : s Romans. . -
D. Acook called Corobus. ; 50. The most important title to sum up the passage
44. Theritual sacrifices were offered to ' - wouldbe o '
A KingZeus— -~ - : _ ... A:International Olympic Committe
B. Zeus the Greek god »_ B. Zeus the Greek god. ;
C. mwggng;01ymp,ic-commitzee<IOC) o) .. © Olympic Gamés. .
D. Greek o ficials, . s . - .. D. Footban World Cup.
) 48 “------f-_égradugl]y,decji}l_;cd'jnimp_ortance’{ i larieairiiny
I o : : KIRINYAGA STD 8 ENGLISH PREMOCK - 2015
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éiis, the Greek god. The winners of the events, were adinired and immortalised in poems and statutes. = .
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Umepewa karatasi hii ya maswali na karatasi ya kujibia. Karatasi hii ina maswali 50
Ikivyn utataka kuandika chochote ambacho si jibu andika katika karatasi hii
Ukisha chagua jibu lako lionyeghe katiks K ARATASI YA MAJIBU na wala siyo kat&a karatast hit ya maswali *

.

Tumia Penseli ya kawaida : ' ' bW

Hakikisha ya kwamba yafuatayo umeandika katika karatasi ya majibu;
NAMBA YAKO YA MTIHANI
‘ JINALAKO
JINA LA SHULE YAKO ' .
Kwa kuchora kistari katika visanduku vyenye namba zinazokuhusu, onyesha namba yako kamili ya mtihani (
Yaani namba ya shule, na zile namba tatu za mtahini ) katika schemu iliyotengwa mwanzo wa karatasi ya
majibu. , ' o
Usitie alama zozote nje ya visanduku.
Iweke safi karatasi yako ya majibu na usiikunje.
Kwa kita $wali 1-50 umepewa majibu manne. Majibu hayo yameonyeshwa kwa herufi A, B, C, D,. Ni jibu
MOJA tu kati ya‘hayo manne ambalo ni sahihi. Chagua Jibu hilo. :

- Kwenye karatasi ya majibu, jibu sahihi lionyeshwe kwa kuchora kistari katika kisandulu chenye herufi

uliochagua lka:wa ndiio jibu.

Mifano: »
Katika karatasi ya maswali :

19. Kisawe cha neno kilimo ni __
A. rununu B. zuzu
C. zaraa , _ D. kidosho
Jibu sahihi ni (B) (Zaraa)

Katika karstasi ya majibu

’

"1l
12.

Biwiciol giraimlicol ) iMBlCD] §B (A)B)ICHD] (Al B] (CID)

knika visanduku vinavyoonyesha majibu ya swali namba 25. Kisandukn chenye herufi B ndicho kilichorwa kistari
Chora kistari chako kiwe cheusi na kisijitokeze nje ya kisanduku.

Kwa kila swali, chora kisanduku kimoja tu kati ya visanduku vinne ulivyopewa.

Karatasi hii ina maswaii 50 Iliyopigwi chapa.
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4 " lakini hawa akuwcza ku®
kwa saB‘abu\va __8.

....S PR

hufanywa kwa
na wazee nao waka

", hao wawili mxotaﬁm lni ’ ’9 ré kwa madhara yatakayowakabnh

mpomka xu /7 49 | :
L AL IE‘tesha f 9/ B. piganisha C. fahamisha D. potosha
2.A. sema b2 " B.rai C.shtaki D. kemea
3. Aiduni >~ B. aali < C. ahali D. hah
"~ 4. A.pupa 2 e vri x 'Bufujo, . C. kasi D. hali
$. A. pigana B. elewana C. kamilisha _ D. shutumiana
6. A. shangwe B. fazaa C. furaha D. ukarimu
7. A. cheka B. ghadhabikey C.cheza " D. tabasamu
8. A. adui B. hasimu - - C. wasahibu D. wazalendo
9. A. pima B. vumiliana ..C. pimana D.vumiliwa -
10. A. patanishwa - .+, - B.sulihishwa C. sikizanishwa - D. zozanishwa
Sisimi ____11_____wa shulc ya Tufaha. Shule yetuinaeneolamita 12 kwamiakana___13_
shule yetu une_]uhkana kama 14 kwa umaarufu wa kuwa 15 masomoni.
11. A. wanagenzi - B. wanafunyi : C.wnkuvunzi D. wasomi
12 .A.mraba B. mstatili .C. pia D. kipenyo
13. A. umri ) B. dahari C. mikaka D. enzi
14. A. pesa B, rais ‘ C.uhai D. maradhi
15. A;taa B. simba ) C. nyoka -D. kobe
e S
Wﬁm&i&m‘m B.mehinde,
e oviing 1 _C.kishindo
16~ mﬁ sentensi sa.h:h1 kisarufi. D. shindano

A. Msichahg amenunuarinda nymgme nyeusx

B. Msichana gmenunua rinda nymgme jCUSl

C. Msichana amenunua rinda ingine nyeusi.

D Msichana amenuriuarinda lmgme J eusi.
‘KXemilisha Fahamikiana kama. :

A sshani na kawa

B. kinu na mchi

. puanamdomo

D. tui na maziwa

18. “Nymyxmwanamnmwetu

- Tajakitenzi kishirikishi .

A.’-wetu " B.ni
.nyinyi D. wanafunzi

19. Nambari 2708 ni kati ya kunch la la
* tayakimu. :

- A.shufwa ' B. witiri

- Citasa : D.chanya
20.  Baini matumizi ya neno lililopigwa mstari. Vazi

“" hilindilo lililonunuliwe.
A. Kisisitizi,
C.Kielezi.

B. K.lwaklllShl
- D, Ku‘qeshl

21. “KI” katika scntena.
- "Mwanafunzi huyo akikuona atatcmbea Ejeshi,”

imetumiwa hwuyesha
A.masharti, nomino B. wakati, nomino
C. masharti, namna D. wakati, namna

#2.  Kitenzi kinachoweza kuundwa kutokana na jina
mshindanini
A.shinda

|43

25.

26.

A. hata

Pambo aina ya ushanga linalovaliwana wanawsl
kiunoni huitwa
A.ukogo T

- B.uvoo

C.kikuba
D. kilinzi :
Chagua kundi Ienye vielezi pekee.
A.Tele, kesho, barazani, kistaarabu
B. Afanaleki, sefle, shabash, newalla
C. Licha, seuze, sembuse, maadamu
D. Hodari, shujaa, mwogwa, fidhuti
Chagua usemi wa taarifa ufaao wa:.
"Kwa nini huna bidii?" Mwalimu aliuliza.
A.Mwalimu aliuliza kwa nini huna bidii.
B. Mwalimu alisema kwa nini huna bidii.
C. Mwalimu alimwuliza sababu ya kutokuwa na
bidii.
D. Mwalimu alimwambia kwa nini hana bxdu
Ni kiunganishi kipi kilicho sakihi ;
Ha:ukushmdwa na mabingwa wa miaka m:tam :
nyinyi mnaoanza leo.

B.ingawa

. C.labda..
.. D.sembuse
&l

Kikembe cha simba ni
A.kingonyo
B.kibuai
C.maige
D.kidue
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- - NOUDES U .  aaat . . et ) (g e 'P""“-"""',“‘w“"'" o -_‘:q.:.; LAyt 3
28. Neema ni mtoto wa dada yangu. Kwa hivyo neema iv) Mengi sana. o
ni nani? CALiv, i L, i
A._M_pwawangu : B.ii, iii, iv, i
B. Binamu yangu C.1i,1v, iii, 1
C.Kininginachangu D.1,iv,iii,iv

D.Kilembwe wangu - ,
29. Panga vifungu vifuatavyo #i vilete maana moja | 30. Nisentensi ipi ambayo imetumia sitiari.

kamili.” - - A. Otieno ni fuko hatamaniki kwa macho. - -

i)Katikamajshayao. = B. Nyaboke ni mpole kama njiwa.

ii) Watu wa mjini. C.Muuguzi alisema atajifungua salama.

iti) Huwa na mabadilike. D. Moyo wake ulimwambia asirudi nyumba
PR o — il v :

jat ifi ( ujibi wali31-4

Tuliagana kwa mkono na buriani na mziwanda wetu Katumbo. Alikuwa akxsmasma kwa wahaka wa kuachwa i

pekee ity ..mlw;u Tuliondoka mimi na mkoi Hafsa na bibi aliyekuwa mwenzi wa kufa kuzikana. Nilikaa sako kwa -

bako na adinasi'wawili waliokuwa majitu ya miraba minne. Katika muda wa kupiga ukope, safari ya kuends

dolodolo nchi jirani ilianza, Bibi alitumainia kupata matibabu kwa Babi’ kwa uwele uliokuwa ukimwandama.
kama mtu na kivuli chake. Sifa zake za uponyaji zilikuwa zikivama. Muziki ulikuwa ukihinikiza na kudunds
dmmmmjﬁpuko va baruti katika machimbo ya mawe. Dereva alikuwa akiendesha daladala kwa mwendo wa
kumwaibisha duma. Nilihofia ajali isiyokywa na kinga kutojali ni ajali tosha.

Bibi yangy alikuwa akipiga soga na mja mwingine aliyekuwa akionekana na wasiwasi karna mwasi. Alikuwa
akijaribu kwa Gdi na ambari kumtendekeza dereva wa matwana dhidi ya kasi hiyo. Dereva wa daladala alitia
Komango masikioni, naam! Sikio la kufa halisikii dawa. Ghafla daladala lilidanadana na kuyumbayumba. Mara siti
mmoja slionekang akibebwa hewani kupitia dirishani hadi bondeni. Aligaagaa kidogo kisha akapumzika kwa
kurnduha nyusi kwa mwenyewe. Jasho baridi lilitirika makwapani kwa woga ulioniteka nyara na kunidhibiti.

menda zake alipovutwa kutoka bondeni nikaudna uso wa mkoi wangu. Nilipaza sauti kumwita bibi. Tungeanzia

. qpx—xihah n;ypdihxwa st wa ujiw aiawamap.

v B Kuendesha magar KWakasi,
31 Kaiika ibara ya kwanza, semi "mkono waburiani’| ¢ ubeba idadi faayo ya abiris,
maana yake ni nini? . D. kutalewa wapapoendesha magari.
A Meaageno yenye tashwishi. '37. Dhamira yasafartilikuwa
B. Maamkizi yenye mashaka. A ligiliatiba,
C.Kweheriyenyeburaha. B. kutalii nchi jirani
D. Mapokezx yenye tuzo. C. safari ya buriani '
32. Nenojingine lenye maana ya bibini D. ajali barabarani
A halati B.nyanya 38. Njiamwafaka ya kuepuka hali 1hyosnmuhwam
C.mkaza ami ,  D.mke A. kuwahukumu madereva wasiojali vifungo
33. "Muziki------v--- mlipuko ya baruti «---- Hii virefu gerazani.
inamanisha?
A.Daladala lilipita eneo lamachimbo namigodi. - |- (B: m;npgski‘;ﬁ)a’md: mﬁﬁm;
B. Daladealalililipukg na kudanadana ovyo. ' .barab srani.
C. Ulivuma na kupaa kwa sauti ya juu. D. kuwahimiza madereva kuvaa sare na kufanya
D. Sauti ya daladala barabarani ilikuwa haxscmckx. - yilkemls
34. Maanayamsemo ‘Kupxga soga'ni ) 39. Maeiezo yanayokubahana na sikio la kufa #
A. kuzungumza halisikii dawa ni
B.kupiga 'f’sl‘;yo“f; A. kucheza muziki kwa sauti ya juu.
g‘ kuchezesha mi °k“:: i B. kuzingatia sheria za barabarani na dereva. _
-kumunyaiuunya kwamadaha. C. dereva kutopuuza nashha za abiria. .
35. Hafsaalikuwa akimwitaje msimulizi? ' D. purukushani za derevani dhidi ya ushauri wa
A. Mpwa.mu v abiria. '
2N | 40. Kichwachakifungu hikikingefaakuwa_
C.B AEATE ) A. Ukitajanyoka, shika kigongo.
5 D. Binamu - B. Nyani haoni kundule.
6. Maderevawsonywadhdiya ~ C.Chelewa chelewa utakuta wana si wako.
A.kuzingitia sheria za barabarani. D. Asiyesikia la mkuu huvunjika guu.
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u ho kis I -

Nikuwa siku ya Jumatatu niliporauka asubuhi na mapema. Bwana Shamsi alikuwa tayari ameshayeyusha
m wa alfajiri. Bila kusita nilirusha blanketi langu pembeni mwa kitanda na likaning’inia hapo kama popo
topeni. Nilipiga magoti na kupiga bisimillahi kwa Dayani, waama mwomba Mola si mtovu.

Kabla ya sekunde kuunda dakika, nilisikia sauti dhoofu ikibisha mlangoni. Moyo ulinidunda dududu huku

' dknjmlm kimoyomoyo mgeni huyo wa asubuhi alitoka wapi? Nilipomaliza kupiga dua nilisogea mlangoni ili
~ Juisikiliza sauti ile kwa makini. Do! Nilisikia sauti iliyokuwa nyonge sana kwa umbali ilisikika kama sauti ya

mstoto mchanga au ya mtu aliyekula chumvi nyingi.
Nilijawa na wasiwasi kwani kibanda changu hakikuwa na nafasx hata ya mgeni kusimama. thmtosha

'-mpekeymgu Sauti ilipoendelea kubisha, nilipiga , moyo konde na kuamua kuuﬁmgtmmh.ngo Mbele

yangu alisimamg3 bibizee.-Baada ya kutazamana kwa muda wa kelbu kuukalia mkia wake huku nikijaribu
kuifahamu- sura yakes yule bikizee aliomba mahali pa Bumpumzika na angalabu chakula kidogo cha kutia

. kinywani. Niliamua kumpa kiporo changu cha pure, ahkxlnkwaﬁ;rahanapnndctuahpomahuahmdazake

 buku nlnsema kuwa fahnlx amjahe.
al. Kulingana na habari hii mwandishi 46. Mgeni huyo wa mwandishi alikuwa pale kwa
A.alikuwamkarimu. v kuwa
- B.alikuwamchoyo. . Sy ; A. alikuwa na zawadi
C.alikuwamjanja. - - . % ’ B. alikuwa ametumwa
. D. alikuwamtundu. - C. alihitaji usaidizi
/42, Bwana Shamsi alikuwa tayari ameyeyusha alfaJm D. alikuwa mamayc‘mwandishi
Huu ni wakati gani? 47. Mwandishi wa makala haya alifanya nini kabh ya
A. Alasiri A o kwenda mlangoni?
B.Magharibi = = , A. Alikoga miwanzo.
C.Dhuha ; - B.Alipigadua
D. Macheo C. Alistaftahi
43. Kupiga bismillahi ni D. Alishtaki njaa.
A. kuomba kabla ya majibu. 48. Sautiilipozidi kubisha mlangoni mwandishi
B. kutufuru - A.aliogopanakujificha
C. kudai baraka za Mungu B. hakushughulika
D. kupxga dua C.aliingiwana hofu
44. Lipi kati ya maneno haya si jina la Mwenyczx D. alipiga moyo konde
Mungu \ 49. Chumba cha mwandishi kilikuwa cha aina gani?
A.Dayani - 2 g A.Chakifahari
B.Mamuluku : - B.Nyumba yamsonge
C.Rabana . ' C.Kilikuwakibanda
D.Rahimu it D. Ilikuwakasri ;
- 45. Sauti dhoofu aliyosikiamwandishi 50. Nimethali gani inayowezakuelezea hali ya
A. iimfurahisha ' bikizee baada ya kupewa kiporo?
B. ilimtia kiwewe S A.Penye niapana njia.
C. haikuwa ya yeyote B.Mia nawe hafl nawe ila mzaliwa nawe.
D. ilikuwa ya watoto \ ' C. Akufaaye kwa dhikindiye rafiki.
'3 " ' D. Simbamwenda pole ndiye mlanyama.
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'YOUR NAME

_INDEX NUMBER

| NAME OFYOUR SCHOOL |
EN GLISH
SEC TLE B: COMPOSITION
ogieon e ey S sk e R : m 40MINU IES
READ THE INSTRUCTIONS CAREFULLY

1. Inthe spaces provided write of your full Index Number. Your Namc and the Namie of Your School
2. Now. open thls page, read the composmon subject carefully and wntc your composmon on the lmes «

_provided.

- ‘This Question paper consists of 4 printed pages.

g _ Below is a beginning of a story. Contmue itin your own words. Make the storyas mterestmg
as poss:ble :

I had a, ﬂechng that this would be a special day. Tt was difficult to cxphm what I felt. Then I saw my headteacher
commg towads me with a smile onhu face. 1 waited, myy heart beatmg TREL. s einicrueressursersnssorsiisssensnusaonarapesasassipisnioengnansisors :

ooooooooooo

...................................................................................................................................................
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DARA,S_A_LA - MWAKA 2015 _

JINA LAKO

NAMBA YAKO
YA MTIHANI -

{ NAME OF YOUR SCHOOL

_K_I_S)_V__:_A_H_I_L_I_

 MUDA : nmﬁs

; SOMA MAAGIZO HAYA KWA MAK[NI '
8 Kwenyc nafasi zilizoachwa hapo juu, andika namha yako ka:mh ya mtihani, Jina la.ko Jinala Shule ynko

2. Sasa fungua Karatamk hu soma klchwa cha msha kwa makini na uandlkc msha yako kwenye nafasl
ulicachiwa.

'KARATASI HIT LA MASWALI LINA KURASA NNE ZILIZO PIGWA CHAPA

Andzka insha ya kuszszmua ulamalzzza ktfungu hiki.

....................................................................................................................................................................................................

e adneavadnidsreasenntngntneertaor i sanpurivansetoniie ranuarsesisennbinmseanesonsass s onsosssonssiness bube sosisbsns vt s fovmmmes eransasosonort

...................................................................................................................................................................................................




KIRINYAGA COUNTY PRE_Iw@/e*bﬁmeeducationgroup.c9m

STD 8 YEAR
MARKING SCHEME

MATHS ENGLISH KISWAHILI SCIENCE SOCIAL STUDIES & C.R.E. _*
; " p (P : ———
1.C 26C [1.B 26.C | 1.C 2%p |1 D %D 1. Al 26.B 5.0 76 B
2. D 27.C (2D 27.D 2B 27B|2C 21.A 2 D 27.C 52. D 77. D
3.B _28.A |3 A 28.C 3B 28A [3 A 28C 3.C 28.C 53.D 78 A
4. A 29.A |4 C 29 C 4D xgpl48B - 29.8B 4. A 29'C 54. B 79.' B
5. A 30.D |5C 30D | 5B a5 [5D 3¢ 5.C 30.B 55.B go B
6.C 31.B |6.B 31.D 6.B 31.c {6 A 3i.C 6. A 31.A 56.B g1 p
7.A 32C |7.D 32c¢C 7.8 328 |7.C 2D | 7.A 32A 57.B go A
8.C 3.C:]8A 33D 8C 33p18B 33A 8 A 33.B 58. B 83. D
9.D 34D [9.B 34.C 9B 34A |9.C 34C | 9 A 34.B 5.C 84.B
" 10.B 35.A 10.D 35.C 10.A 358" 10.D 35.C 10.A 35.C 60. C 85. D
11.B 36.C | 11.A 36.A 11.B 36.B | 11.B 36.D 11.B 36.A 61.A. 86 B
12.8 37.B 12. C 37.B 122A 37.8 | 12.B 37.C 12.C 37.C 62. C 87. C
13.B 38.A 13.B 38.D 13.C 38.¢c | 13.D 38.B 13.A 38.A 63. B 88. C
14.8° 39.C [14.D 39.C | 14.A 39p | 14.C 39.C 14.C 39.D 64. A g9 D
15.A 40.D [*156.A 40.D 15.A 4b.B | 15.B 40.C 15.A 40.C 65. D 80. D
16.A 41.A 16.C 41.D 16.D 41.A | 16.D 41.A 16.8 41.D 66. B
17.A 42.B | 17.B 42.C 17.B 42.¢ | 17.D 42.A W.B 42.C 67. C
18.A 43.C | 18.D 43.D 18.B 43D | 18.C 43.B 18.B 43. B 68. D
19.D 44A 119.D 44B | 19B 448 | 19.A 44.B 19.A 44.B 69. C
20.D 45D [20.A 45A .| 20A 458 | 20D 45.C 20.B 45.D 70. B
21.B 46.B 121.A 46.C | 21.¢c 46.¢ | 21.B 46.D 21.C 46.D 71. D
22.D 47.D0. {22 D 47.D 22.A 47.8B-| 22.A 47.C 22.D 47.B 72.°8
23. 8 48.C [ 23 A 48.D 23.A 48D | 23.C 48.B 23.C 48.C 73. D
24.A 49.B |24 A 49.C | 24 A 49 ¢ | 24.C 49.D 24.B 49.A 74. B
25.C 5C.A |25.C 50.C 25.C 50.C | 25.C 50.C 25.B 50.D 75. A
COMPOSITION/INSHA MARKETING SCHEME
MARKING SCHEME CRITERION '
-The compositioﬁ will be assessed according to the following guidelines.
- The maximum mark will be 40 and minimum mark 01
- Does the script show that the candidate can communicate accurately, fluently and magnetically in English.
Accuracy (16 marks) ‘ '
a.  Corect tense and agreement of verb (4 marks)
b.  Correct speliing (marks)
Fluency (16 marks)
a.  Work in the correct order (4 marks)
b.  Correct spelling (4marks)
Imagination (8 marks) A
a.  Unusval but appropriate use of words and phrases (4marks)
b.  Variety of structure (4 marks)
a.  Accurate use of vocabulary (_4 marks)
b.  Correct punctuation (4 marks)
a.  Sentencas connected and ;;aragraphs (4 marks)
b.  Ideas developed in logic squeeze (4 marks)
NB: Plezase teachers are requested to scruﬁnize this marking scheme befo-s uss, it is worth.
/



